1-8-notes.notebook September 19, 2016

Fill in the blank.

A(n) measures th = a path or line of sight makes with a fixed north-south line.
meag )

Fill in the blank.

A point that moves on a coordinate line is said to be in simple when its distance d from the origin

at time ¢t is given by either d = a sin wt or d = a cos wt. harmon MO'HO")

Fill in the blank.

The time for one complete cycle of a point in simple harmonic motion is its .
+ime 'T— @MI‘O (‘j

I =.1Jx

Fill in the blank.
The number of cycles per second of a point in simple harmonic motion is its .
¢ \jo@lj ‘P ’//(\/Z wee ‘—7
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5. + Question Details LarTrig9 1.8.005. [24632
Solve the right triangle shown in the figure for all unknown sides and angles. Round your answers to two decimal places

A=30° b=9
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6. + Question Details

Solve the right triangle shown in the figure. Round your answers to two decimal places.
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e + Question Details LarTrig9 1.8.008. [32208

Solve the right triangle shown in the figure for all unknown sides and angles. Round your answers to two decimal places.

A=19.9° a=455 . mao- - 0)
oC 5. o (167 = 2= C = cse (45
%0\ —~ s s Q(‘H.(J% C ¥&s _ (c,ﬁ°>
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o swm(39°) = %
¢ b A 43 ~—c N adneg o =¢
The0r0 C= — = NS esc (99 = 26T,
’ <195 )

485

oo = b (35°) ese (&) buttom .
¥5S :i b oo \ o . o
WSSt (98) =y (6F) R= - q5 -[801°=B
8.  + Question Details LarTrig9 1.8.009. [24632

Solve the right triangle shown in the figure for all unknown sides and angles. Round your answers to two decimal places.
a=12, b=16 A‘ ;
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Solve the right triangle shown in the figure for all unknown sides and angles. Round your answers to two decimal places.

a=40, c=46 c(
2 a
(%S,
B Qowv\ﬂ GS‘Q’Q
a c
C b A

Solve the right triangle shown in the figure for all unknown sides and angles. Round your answers to two decimal places.

b=16, c=69
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Solve the right triangle shown in the figure for all unknown sides and angles. Round your answers to two decimal places

B =064°24" a=1545
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Find the altitude of the isosceles triangle shown in the figure. Round your answer to two decimal places.

§=45° b=38
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The sun is 25° above the horizon. Find the length of a shadow cast by a building that is 100 feet tall (see figure). (Round your
answer to two decimal places.)
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14.  + Question Details LarTrig9 1.8.022. [2456857]

The length of a shadow of a tree is 160 feet when the angle of elevation of the sun is 37°. Approximate the height of the tree.
(Round your answer to one decimal place.)
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16. + Question Details LarTrig9 1.8.024. [24566¢
An observer in a lighthouse 350 feet above sea level observes two ships directly offshore. The angles of depression to the

ships are f = 8° and @ = 12.5° (see figure). How far apart are the ships? (Round your answer to one decimal place.)
ft
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ion Details LarTrig9 1.8.026. [2456209]
serve a plane approaching overhead and assume that its speed is 650 miles per hour. The angle of elevation of the
s 15° at one time and 58° one minute later. Approximate the altitude of the plane. (Round your answer to two decimal

)
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17. + Question Details LarTrig9 1.8.034. [245604

During takeoff, an airplane's angle of ascent is 17° and its speed is 300 feet per second.

(a) Find the plane's altitude after 1 minute. (Round your answer to the nearest whole number.)
ft

(b) How long will it take the plane to climb to an altitude of 10,000 feet? (Round your answer to one decimal place
sec

18. + Question Details LarTrig9 1.8.036. [245617(

A jet leaves Reno, Nevada and is headed toward Miami, Florida at a bearing of 100°. The distance between the two cities is
approximately 2472 miles.

(a) How far north and how far west is Reno relative to Miami? (Round your answers to two decimal places.)

(b) If the jet is to return directly to Reno from Miami, at what bearing should it travel?
O
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19. + Question Details LarTrig9 1.8.042.MI. [2463203]

Fire tower A is x = 25 kilometers due west of fire tower B. A fire is spotted from the towers, and the bearings from A and B

are 8 = N 80° Eand ¢ = N 52° W, respectively (see figure). Find the distance d of the fire from the line segment AB. (Round
your answer to two decimal places.)
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21.  + Question Details

September 19, 2016

Find a model for simple harmonic motion satisfying the specified conditions.

Displacement, d Amplitude, a Period
(t=0)
2 inches 9 inches 4.5 seconds

T=%S
(6D b o whin x21S
qlb—b-:'[ﬁ _ o
(¥ - < _ ‘F‘S'\/

% cos (?XB

22. + Question Details

LarTrig9 1.8.051. [2550721

A point on the end of a tuning fork moves in simple harmonic motion described by d = a sin wt.
fork for a certain note has a frequency of 272 vibrations per second.

W =

Find w given that the tuni

11
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23.  + Question Details LarTrig9 1.8.054. [2456678]

For the simple harmonic motion described by the trigonometric function, find the maximum displacement, the frequency, the
value of d when t = 6 and the least positive value of t for which d = 0. Use a graphing utility to verify your results.

d=—= coséﬁ‘nt>
(a) Find the maximum d|sp|acernent Q.—om W“d/ow \_\
L Jasamlihdey ey M

(b) Find the frequency. T /?
cycles per unit of time l\w +‘ wme
bzom W =
(c) Find the value of d when t = 6. ol g \ _tome _J[:m o€ C‘7</Z C‘?"Q’
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